| forgot the recorder and the Smartboard crashed
and lost the first part of the class where | dealt with
the 30 questions that was due on March 1st.

Not a good day...
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This is practice continued where we have a file
of data that we need to process.

Practice exercise:

Payroll file: (each record is payRecord)

idno name pavHr regHrs ovLHrs
1111 John Doe 20 40 10
1234 Ann Costa 25 40 0

2222 Linda Ryan 30 40 20
2345 Bob Smith 30 35

EOF

start

read payRecord
do while not endofrFile
if ovtHrs > O
regPay = payHr * regHrs
ovtPay = payHr * owvtHrs * 1.5
totPay = regPay + ovtPay
else
totPay = payvHr * regHrs
end if
display totPay
read payRecord
end do while loop
stop program
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Practice sxXercise:

Payroll file: (sach record is pavRscord)

idno names pavHr regHrs ovtHrs
—-..? 1111 John Doe 20 40 10

1234 Ann Costa 25 410 0

2222 Linda Ryan 30 40 20

2345 Bob Smith 30 35

ECF

start
read payRecord

do while not endofFils U
if ovtHrs > 0 g_w los
ragPay = payHr * regHrs w
l-—-—-_ﬁ

ovtPay = payHr * ovtHrs * 1.5
totPay = regPay + ovtPay

else -\"‘-_--...._ ”{]U ﬂmo 'W

totPay = pavyHr * regHrs
end if U
display totPay
read payRecord ’J
d do while loop a ﬂ“?#—

stop program rf
i

\m'hd-‘\‘z‘“\ Y eod — \"J"recd""
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display ans -
end

Inventory File where sach record |Problem #7: Show the output that would be

15 invenRecord: generated if this pseudocode was executed
using the data shown.

itemlo | onHand | onOrder | re0rdPt

1111 30 a0 =0 Note that I want to see the output from
=5522 |20 30 50 each of the records you process.
33333 | 25 15 50
44344 L0 20 75 On the homework you are processing
55555 |20 0 40 this file of data.
66666 | 10 25 25
ECQF

start

rzad invenRecord
do while not endOfFile
totInven = onHand + onOrder
if totInven > reQOrdPt
tolrder = 0
else
toQrder = (reQrdPt - (onHand + onCrder)) + 100
end if
display toOrder
read invenRecord
end do while loop
stop program
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Logic Assignment

I want vou to play computer. Step through these problems and determine the result.

start Problem #1: When the pseudocode
wvarl = 10 displays rslt, what number will
varz = 20 rslt be?
wksum = 0
rslt = 0O 1l. rslt = 28
do while var2 < 30 2. rslt = 29
wksum = wvarl + wvarZ 3. rslt = 30
if wksum > 30 4, rslt = 31
varl = wvarl - 2 h. rslt = 32
var?Z = wvarZz + 1
else
varl = varl - 1
var?Z = wvar?Z + 3
end if
end while loop
rslt = warl + wvar?Z
display rslt
end
start Problem #2: When the pseudocode
wvarl = 10 displays rslt, what number will
varz = 20 rslt be?
wksum = 0
rslt = 0O 1l. rslt = 28
do until var2 > 30 2. rslt = 29 -
ralrotm = 1ol L troe 2 relt — AN
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Logic Assignment

I want you to play computer. Step through these problems and determine the result.

start Problem #1: When the pseudocode
varl = 10 displays rslt, what number will
varz = 20 rslt be?
wksum = 0 Izﬁuﬂ'\'
rslt = 0 1. rslt = 28
Z5 do while var2 < 30 2. rslt = 29 VOI‘[ Vor g w
F wksum = varl + war?Z 3. rslt = 30 L
if wksum > 30 4. rslt = 31 _J,o 90 20
varl = warl - 2 5. rslt = 32 39\
var2 = wvar2 + 1 ﬂ/ ys
else “ 5 {
varl = wvarl - 1 ! 7'
wvarz = wvarz + 3 3‘” 30
end if L
~end while loop 3}} %l
rzslt = wvarl 4+ wvar?Z “
display rslt H’ aﬁg Y5{+
end i" il
start Problem #2: When the pseu’c‘i’o‘code qhqp( 0
varl = 10 displays rslt, what number_sill p O
varZz = 20 rslt be? 01 ”
whksum = 0 N
rslt = 0 1. rslt = 28
do until wvarZ > 30 2. rslt = 29
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